290 WmFM=I

( 8 ¥ 1

e e =

A
i 2 1 jie 1 2 1 2
# A A # A A A ivA
[] 2 3] 4] 5 6] 7] 8 9 [ 10 L1
23 ﬁ PNE: S + | B | HE BlA|+
R %3 b § S
a v A
W 7 x| .. |2 F|K
i F U | F
: U V% R
| s B X | % | 2| ) | Al
A B C D
([ ©= F ]

“NRTy FIN—ILEFEARE MGER

r = + D2 2 +* v o
W5 W5 J¥s W5 15 15 15 15
E4 E4 = = =< =< =< =<
I ’If | = ]| *{ | | I/ | = 1 [ & ]| I/ | | 5|’ |
[ | [ ] [ | [ ] [ ] [ ] [ ] [ ]
7| A <17 VAE x| i v | A x| 7 7y
s | W | BR B | BX B | BX B | & B | & B | & B | &
| & | & * | &5 | & | E | & | &
1 2 3 4 5 6 7 8 9 10 111 12 13| 14 151 16
3 + E ER | fE BB T A TRIES = | X | fiE
K + S AN F.3 3
i H A =4 M v
| % X ; =7 K DA ]
Al i3] U E] B S
5 v . |B N
* R v >
JI| F| = B | A& R H|A 2| C H|H | X
T A 7 - FR 7 =3 Vi
[FEFHE]
%ﬁ T )= SR ) — T E R e - R ) —
BIDT —LOSENT=5HZE . SDRICRDT—LERIBT 5,
I N—TBA LDIEE L. ROT —LDF—LI2HBIETHB T=5,

[ FATF—A— R T, RADEASEBEARELIZTIVENEREE HELEEITI,

FE )T RB)—T
2F— LAY,

RIROIGAIENEEEDES,
3F— Aﬁﬂi@%Aﬁ LW 3F— AROT—ILTRL—J[BE

REBERIDKREDF—LOEELET B



7H2R8(x)

No. | B FH Ad—h TO Ba—k TO

1] 9:30 K VS #FINLX K% BBavk)LX VS y:2Z 1 +XF

2 [10:30(  HEMI VS * i3] +XF VS #EFEKita\ERR| (EAES

3 [11:30 Kig VS BRA—FyX| HEFIILX =5 VS EH %3

4 112:30 P N:3 VS XH BMFILX ‘¥t VS  ASAKURA | #&HERedWings

5 [ 13:30 =H VS  ASAKURA K IREY3>X VS KHFMBBC |IBRA—FyX

6 | 14:30 [ VS IHEHES =8 BFILX VS ] 2 H

7 | 15:30 R VS #HERedWings K ASAKURA VS +X¥F BFI
7A3H(A)

No. | BFdl Ad—h TO Ba—k TO

1| 930 7HE VS 18 E = H A& VS THE ASAKURA

2 [10:30 k& VS TEE ILREYavX ThE S VE A#HMBBC

3 (1130 +xX=F VS fBavKILX yr:2Z 1 +xXF®E VS  #EFi ASAKURA

4 11230 AHEE VS HhE NI il oy VS TE *

5(1330] FhEHE VS & +XF DE VS FHE  |HEFKta\ERR

6 1430 #BFIILX VS K% P Vi +XF VS B Bark)LX
7R9RA(1)

No. | BFdl Ad—h TO Ba—k TO

1| 9:30| A z ks xE HE z TE +XFH

2 [10:30] REsE =8 THE A1EE ViE z SE B18E

3 [11:30 ARsE 8 B2{i A2BE B1{i E: ARE B28E

4 12:30 C1{x 3 D24 A3 E D14 3 Cc2{i B3ME

5 [13:30 F z b A4BRE T z b B4KE

6 | 14:30 w 3 X ASERE Y 3 z B5#E
7R10R(H]

No. | BFel Ad—Fh TO Ba—k TO

1] 930 F-YBE & T-hEE EES T-rEE O x FUKE EES

2 (1045 WxiE B YZEE [E YZR5E 8  WxE#E EES

3 (12000 F-YBE Xk T-HEHE EES F-UBE x®  T-ME EES

4 [13:15] WXBE B YZR§E EES WxEE 5B YZERE e

B ROFIEAMLT—TILNOERDF—LEFT4vILEICANTEAIET S,

F2HELREE AF—LDELEVWTROTERVWARUFIIEDLSLLY,

A=TA—LOBIF, EF—LBEIREFIMLT—TILOEROF—LERE(B)ET S,

Fo42wLE BALTF—T LD, (BRF—LDAZYINEEEZFHF >TRTBEULTESLY)
=L BRI ARy R—)La—A)LIL—)ILEERT 5,




